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During which activity of the Fundamental Test Process do you compare actual with expected results?

A. Test closure activities

B. Evaluating exit criteria and reporting

C. Test analysis and design

D. Test implementation and execution

Correct Answer: D

QUESTION 2

Which statement about combinations of inputs and preconditions is true for a large system?

A. It is easy to test them all in a short time

B. It is not practically possible to test them all

C. Itis not possible to test any of them

D. Itis essential to test them all in order to do good testing

Correct Answer: B

QUESTION 3

Given the following state table:

On Off Channel 1 Channel 2 Channel =2 | Sthy
Standby Live I I I I &
Live M | Standby | Display Charnel 1 | Display Channel 2 M S-andby
Display Channel 1 | N M M Uisplay Channel 2 Live Siandby
Display Channel 2 | N Ml Uisplay Charnel 1 M Live =randby
Which of the following represents an INVALID transition (N)?
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A. Off from isplay Channel 1?

B. Channel 2 from Display Channel 1?
C. Stby from Live?

D. Channel 2 from Live?

Correct Answer: A

QUESTION 4

What is the USUAL sequence for performing the following activities during the Fundamental Test Process?
a) Analyse the test basis documents.

b) Define the expected results.

c) Create the test execution schedule.

d) Establish the traceability of the test conditions

A.d,a,cb

B.a,d,b,c

C.a,b,cd

D.a,b,d,c

Correct Answer: B

QUESTION 5

For which of the following is Impact Analysis ESPECIALLY important?
A. Maintenance Testing

B. Unit Testing

C. System Testing

D. User Acceptance Testing

Correct Answer: A
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